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— MITIWO WH ™A W PIn Naw
He stayed for naw; we give him food for three meals

OVERVIEW
The X773 cites a 71wn that if the (traveling) °1v spends Naw in a city, we give him
food for three meals. mdo1n discusses when and why it is given to him.

- Zor9nNa nava fuyyde

The explanation of 'nav”, is that we give him the M171v0 A 17172 on Naw afternoon -
— INY DAY *NaY Y5 YR NAY 2993 HINNN 1Y 1NIY MNYD SNY IMN

[Because] the two meals that were given to the °1¥ yesterday on naw 29w, he

already ate them on Shabbos eve and n2w morning -
— NAVY RN NNN) HYIHY NTIYDA NIV NNNX JIN NIYI I DINNIY MTIYD WOy

And the three meals that we give him on naw, he should eat one on naw for the
third naw meal, and the second on naw SRXYM -

— TANNY PR DD 797 XYY 7972 9n1Y 19 INYS YY)
And the third meal will remain by him for the trip tomorrow (Sunday) so that
he should not leave us empty-handed. And there is no need to elaborate further.

nooIN asks:
— (vmwn ’n p19) NND NIVNI INT NN DN9IN 12 PYVNIY 9%a24Y Y

And the X'"2w= has a difficulty regarding this which the mwn» teaches in nso»

SIND -
— (oW N,MP 97 nav) 22N DD P9 1Y INM

And this mwn is cited in an> ®2 25, which reads as follows -
— NN I DIV XY “1Pa3 MY SNV PN 1Y YOIV )

Whoever has food for two meals in his house, should not take from the »yan.

This concludes the citation from the X773 in Naw. Mo0IN continues with the question -
— DN 0PI DN 9 19 ON) NDIYA NN 79 DINY TAN NN INNIN)Y

But why should he not take from the "wnn if he has only two meals, since one

' The word naw can be read either 7mna 7197 2 7P 1Pwn (which is a verb, rested) or 7X1mPY AWIAT "2 MDD 1WA
(which is the noun Sabbath)’. From >"w1 in naw it appears that he reads it as a verb for his comment on naw is: o73X
nawa. However n1v01n here disagrees and maintains that N2w is a noun and it means that we give him M17wo A 1117 on
naw. That is (perhaps) why nv0I1n writes ¥17°0 to exclude *"ws.

2 The n"37 M7 amends this to read, JNIR 99 O*XA.

? On Friday morning he ate the meal to go, which he received in the previous city. See previous 1'X 71"7 '01.

* See “Thinking it over’ #1.

> In the 73w in 7% and in 2w non the word 10°22 is omitted. See “Thinking it over’ # 2.
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meal he will eat immediately in the morning and the other by night, and

therefore when he leaves, he is going empty-handed; there is no food left in the
house. We just mentioned that a person is always given a meal in order that he should not be left
empty-handed.

MooIN answers:
— 1 198D 19 WY NN K93 13990 NPT MHTIYO SNV PNT VI 7o)

And it is necessary to say that when the m1wn stated whoever has two meals, etc.
it meant two additional meals besides the meal which he will eat immediately.

MooIn asks:
— MHNYO YHY 1Y 123993 PNAN NAY 99NN ON)

And if you will say; why do we give the °1v three meals on naw -
— NN N2PY 229 PN 71 N
For since this mwn is according to ¥''9. moon shows that this m1wn is according to ¥"3 -
—7naYPN 11 DIV XY MTIYD 175 PN 1Y WY 31 5 YA 1IN
For it states in the Xw’n of this 71wn, whoever has food for fourteen meals

should not take money from the 7917 -
— 1290 90’V XPTN 219 ON 81”17! 405190 1929 X 3 (ow) YWTPN AN Y5 P93 72999

And the X3 in wTIp77 "2n> % 1o asks, according to whom is this mwn, if it is
according to the 3237 there are fifteen meals a week, and if it is according to %29

Xp7n there are sixteen meals a week; why does the mwn state if you have fourteen meals

that is sufficient.
— 971!'\ I9HaY YWY 9INRT NN NIYPY 229 2310 NN IV

And the X713 there answered, this 771wn is according to ¥''9, who says make your

naw into a weekday and do not take charity from others. Therefore if you have fourteen
meals that is sufficient even though you will only have two meals on naw.

madIn answers:

® Therefore the meal which has for now will be eaten now in the morning, so there is no need to take from the "rnn
for he still has two remaining meals; one for the evening meal and one 0p>1 72° X?W (and tomorrow he may take 1
“manm).

7 See previous Tmy that the 1917 was money collected for the 777 1y and was distributed once a week. If one has
mTwo 7> 1, he then has sufficient food for the week; therefore he is not permitted to take from the 791p.

¥ The 1127 maintain that on Naw one eats three meals, therefore there is a total of fifteen meals for the week (twelve
for the six days [two meals a day], and three for naw. Xp71 " maintains that one eats four meals on nNaw, so there are
sixteen meals a week.

? According to ¥" he should only receive two meals for naw (since 27 Jnaw 7wy); why does the 7awn afford him
three.
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— D091 DINNNY IV PR NAY NNV HraYaT DNIAN 12 PYNY 1299 NI
And it is the view of the X'"aw= that (if he has fourteen meals) he should not

begin and take from the 77917, because of the extra naw meal that is required, but
rather he should make his 211 naw (since he has enough food for two meals every day [including
nav]) -

1NAY NNHYOY 215 0) YV NVYY PPN 929wWAa Yax
However where he already needs to take (from the "1n) because he does not
have even two meals, so once he is taking, he may also take enough for three naw

meals. If one can refrain from taking 7p7% by eating only two meals on Naw, then we say 7wy
21 naw and don’t take any npTY at all. However if one must take np7% for naw (for he does not
have enough even for two meals), then he may take even for a third naw meal.

SUMMARY

The three N2w meals are given for the (extra) third N2¥ meal, the N2W XXM meal
and one as a meal to go. One may not take from the "m0 if he has two meals,
besides the current meal. If one has sufficient food [if he will only eat two meals
on N2w], he should not take from 7p7%; if however he does not have enough for
even two meals for n2w, he may take three meals for naw.

THINKING IT OVER

1. mpoIn states that on NAW afternoon we give him three meals, one of them is for
naw xe1n and the other for Sunday.'® Seemingly this is preparing from naw to the
weekdays; how is this permitted?!"’

2. mpoIn writes regarding the taking *wnna 1» that if we only give him two MMy,
then he will not have anything when he leaves. However moo1n writes that he has
1N*22 MTWo "2 Pin,'? so he is not leaving and he does not need the extra 77wo?!"

10 See footnote # 4.
' See n"m.
12 See footnote # 5.
1 See n"m.
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